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restart;
with(plots):
with(StringTools):
with(LinearAlgebra):
with(DEtools):

##############################################################################################

Region:=`Moscow`; url:="https://gogov.ru/covid-19/msk#data";

#valp := [14.3017011620847, 174294.606596865, 0.112136011920555, 0.227305036587638, 
0.168356213163325, 0.132723499424831, #0.0924368623344482, 0.130118851494360, 0.163817974575960, 
0.162539645677865, 0.00976372140309013, 0.0198876861922680, #0.0000969948445241616];

valp:=readdata(cat(Region,`3c.txt`));

##############################################################################################

fdisplay:=proc(f,p) 
 print(cat(f,`.jpg`)); #print(cat(f,`.eps`));
 plotsetup(jpeg,plotoutput=cat(f,`.jpg`),plotoptions=`noborder`); print(display(p)); 
 plotsetup(ps,plotoutput=cat(f,`.eps`),plotoptions=`noborder`); print(display(p));
 plotsetup(default,plotoptions=`noborder`): print(display(p));
end:

pr:=proc(x) print(x); x; end:

grad:=(F,V)->map(q->diff(F,q),V):

linsplit:=(F,V)->subs(map(q->q=0,V),[op(grad(F,V)),F]):

corr:=proc(x,y) local i; seq(x[i]=y[i],i=1..nops(x)): end:

ssum:=(F,V)->convert([seq(F,V)],`+`):

pprod:=(F,V)->convert([seq(F,V)],`*`):

Lag:=proc(t,tx,kx) local i,j; 
 ssum(kx[i]*pprod(piecewise(j=i,1,(t-tx[j])/(tx[i]-tx[j])),j=1..nops(tx)),i=1..nops(tx)):
end:
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Lag(t,[ta,tb],[a,b]); Lag(t,[ta,tb,tc],[a,b,c]);

pi:=evalf(Pi);

gM:=evalf(solve((1-x)^2=x,x)[2]):
goldMin:=proc(f,T,epsilon) local a,b,c,d,fa,fb,fc,fd,k;
 a:=op(1,T); b:=op(2,T); fa:=f(a); fb:=f(b); k:=0;
 c:=a+(b-a)*gM; fc:=f(c); d:=b-(b-a)*gM; fd:=f(d);
 while abs(a-b)>epsilon do: k:=k+1;
  if fc>fd then a:=c; fa:=fc; c:=d; fc:=fd; d:=b-(b-a)*gM; fd:=f(d);
  else b:=d; fb:=fd; d:=c; fd:=fc;+ c:=a+(b-a)*gM; fc:=f(c);
  fi;
 od: #print(k);
 (a+b)/2;
end:

findMin1:=proc(F,V) local f,df,f0,f1,f2,V0,V1,V2,ff,t,dt,i,j; 
 ff:=V->F(op(evalf(map(exp,V)))); V1:=evalf(map(ln,V)); f1:=F(op(V));
 f:=[seq(F(seq(evalf(exp(V1[j]+piecewise(j=i,0.0001,0))),j=1..nops(V))),i=1..nops(V))];
 df:=[seq((f[j]-f1)/0.1,j=1..nops(V))];
 V0:=V1-0.001*df; f0:=ff(V0);  V2:=V1+0.001*df; f2:=ff(V2); 
 dt:=0.0001; while f0<f1 do: V2:=V1; f2:=f1; V1:=V0; f1:=f0; V0:=V0-dt*df; f0:=ff(V0); dt:=dt*
1.5; od;
 dt:=0.0001; while f2<f1 do: V0:=V1; f0:=f1; V1:=V2; f1:=f2; V2:=V2+dt*df; f2:=ff(V2); dt:=dt*
1.5; od;
 t:=goldMin(t->ff(t*V0+(1-t)*V2),0..1,0.001);
 map(exp,t*V0+(1-t)*V2);
end:

findMin:=proc(F,V) local V1,Z1,Z2;
 Z2:=pr(F(op(V))); V1:=findMin1(F,V); Z1:=pr(chi2(op(V1)));
 while abs(1-Z1/Z2)>0.0001 do; Z2:=Z1; V1:=findMin1(F,V1); Z1:=pr(chi2(op(V1))); end;
 V1;
end:
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dig:={"0","1","2","3","4","5","6","7","8","9","0"}: val:=proc() global data,i; local j,f; f:=0;
 while not(data[i] in dig) or f=1 and data[i] in {"+"} union dig do:
 if f=1 and not(data[i] in dig) then f:=0; else if data[i]="+" then f:=1; fi fi; i:=i+1: od:
 j:=i; while (data[i] in dig or data[i] in {"-","+"}) do i:=i+1: od: parse(data[j..i-1]);
end:
` `; Region; status,data,headers:=HTTP:-Get(url): HTTP:-Code(status); i:=Search("<th>",data): 

iter:=proc() global i; local r;
 r:=val(); if data[i]<>"." then NULL else [r,val(),val(),val(),val(),val()],iter() fi;
end:

[iter()]: tA:=[seq(%[nops(%)+1-i],i=1..nops(%))];  
dd:=tA[1][1]+piecewise(tA[1][2]=2,-29,tA[1][2]=4,31,0)-1;
T:=map(q->q[4],tA): #writedata(Region || `-i.txt`,%): #  
T3:=map(q->q[5],tA): #writedata(Region || `-m.txt`,%): #  
T1:=map(q->q[6],tA): #writedata(Region || `-r.txt`,%): #  
T2:=[seq(T[i]-(T1[i]+T3[i]),i=1..nops(T))]: #writedata(Region || `-h.txt`,%): #  
i:='i': 
Region; 'T'=T; 'T1'=T1; 'T2'=T2; 'T3'=T3;

nops(T); [i+dd $ i=1..%];

` `
Moscow
"OK"
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Moscow
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(2)(2)
113

`====================================`;
`VERHULST FItAING`;
`====================================`;

====================================
VERHULST FItAING

====================================
h:=x->x;

[seq(h(T[i])-h(T[i-1]),i=2..nops(T))]; [seq(%[i]-%[i-1],i=2..nops(%))]; [seq(%[i]-%[i-1],i=2..
nops(%))]; 
[seq([i+dd+1,%%%[i]],i=1..nops(%%%))]: [seq([i+dd+2,%%%[i]],i=1..nops(%%%))]: [seq([i+dd+3,%%%[i]
],i=1..nops(%%%))]:
display(
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(1)(1)
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 plot([%%%,%%,%],style=point),
 p l o t ( [ % % % , % % , % ] , l e g e n d = [ ` ` , ` ` , ` ` ] ) ,
 title=`  N[i]`,titlefont=[roman,15] ,gridlines=true
);

[seq((h(T[i])-h(T[i-5]))/5.,i=6..nops(T))]: [seq((%[i]-%[i-3])/3.,i=4..nops(%))]: [seq((%[i]-%
[i-3])/3.,i=4..nops(%))]: 
[seq([i+dd+2,%%%[i]],i=1..nops(%%%))]: [seq([i+dd+4,%%%[i]],i=1..nops(%%%))]: [seq([i+dd+6,%%%[i]
],i=1..nops(%%%))]:
display(
 plot([%%%,%%,%],style=point),
 p l o t ( [ % % % , % % , % ] , l e g e n d = [ ` ` , ` ` , ` ` ] ) ,
 t i t l e = `    N [ i ] `,titlefont=[roman,15],gridlines=true
);



(1)(1)
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h:=x->evalf(ln(x));

[seq(h(T[i])-h(T[i-1]),i=2..nops(T))]; [seq(%[i]-%[i-1],i=2..nops(%))]; [seq(%[i]-%[i-1],i=2..
nops(%))]; 
[seq([i+dd+1,%%%[i]],i=1..nops(%%%))]: [seq([i+dd+2,%%%[i]],i=1..nops(%%%))]: [seq([i+dd+3,%%%[i]
],i=1..nops(%%%))]:
display(
 plot([%%%,%%,%],style=point),
 p l o t ( [ % % % , % % , % ] , l e g e n d = [ ` ` , ` ` , ` ` ] ) ,
 title=`  ln(N[i])`,titlefont=[roman,15] ,gridlines=true
);

[seq((h(T[i])-h(T[i-5]))/5.,i=6..nops(T))]: [seq((%[i]-%[i-3])/3.,i=4..nops(%))]: [seq((%[i]-%
[i-3])/3.,i=4..nops(%))]: 
[seq([i+dd+2,%%%[i]],i=1..nops(%%%))]: [seq([i+dd+4,%%%[i]],i=1..nops(%%%))]: [seq([i+dd+6,%%%[i]
],i=1..nops(%%%))]:
display(
 plot([%%%,%%,%],style=point),
 p l o t ( [ % % % , % % , % ] , l e g e n d = [ ` ` , ` ` , ` ` ] ) ,
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 t i t l e = `    ln(N[i])`,titlefont=[roman,15],gridlines=true
);



> > 

> > 

> > 

(1)(1)

(2)(2)
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(1)(1)

(2)(2)

f_:=d->sum(a[j]*d^j,j=0..n); fe_:=d->sum(a[j]*d^j,j=0..ne);

M:='M': 
ff:=x->M*(1-1/(exp(x)+1)); ff_:=unapply(solve(y=ff(x),x),y); diff(ff_(x),x); dff_:=unapply
(simplify(%,x),x);
ffe:=x->exp(x); ffe_:=unapply(solve(y=ffe(x),x),y); diff(ffe_(x),x); dffe_:=unapply(simplify(%,
x),x);

sigma:=x->simplify(sqrt(x));

chi2:=(T,f_)->simplify(sum(evalf(ff_(T[k])-f_(k))^2/dff_(T[k])^2/sigma(T[k])^2,k=1..nops(T)));
chi2e:=(T,f_)->simplify(sum(evalf(ffe_(T[k])-f_(k))^2/dffe_(T[k])^2/sigma(T[k])^2,k=1..nops(T)));

F:=proc(T,chi2,f_) chi2(T,f_);
 indets(%); grad(%%,%); subs(solve(%,%%),f_(i)); unapply(%,i);
end:
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x

1
x

n:=1: ne:=n: 'f(t)'=Sum(a[j]*t^j,j=0..n);
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(1)(1)
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fM:=proc(x) global M,chi2,F,T,f_; M:=x; chi2(T,F(T,chi2,f_)); end:

` `; `Approximation of the infection schedule by the solution of the Verhulst equation`; ` `; 
M:=goldMin(fM,max(T)+2..max(T)*2,1); 
nu:=F(T,chi2,f_): f:=unapply(ff(%(t)),t): N(t)=%(t); Chi2:=chi2(T,%%%);
cat(`Next day forecast:   `,round(f(nops(T)+1))); 
cat(`The level of  0.5 M  is reached at   `,round(1+fsolve(f(d)=0.5*M,d=30)+dd-31),`  apr`);
cat(`The level of  0.85 M  is reached at   `,round(1+fsolve(f(d)=0.85*M,d=30)+dd-31),`  apr`);
` `; `Approximation of the infection schedule by solving the Malthus equation`; ` `; 
nue:=F(T,chi2e,f_): fe:=unapply(ffe(%(t)),t): N(t)=%(t);

simplify([diff(nu(d-dd),d),diff(nue(d-dd),d)]): [coeff(%[1],d,i) $ i=0..n-1];
plot(%%,d=1+dd..nops(T)+dd,view=[0..nops(T)+dd,0..0.5],legend=[``,``],
l i n e s t y l e = [ s o l i d , d a s h ] , t i t l e = `  ` ,titlefont=[roman,20],labels=[t,alpha(t)],
gridlines=true);

d1:=fsolve(f(d)=0.5*M,d=30)+dd; K_:=M; alpha_:=coeff(nu(t),t,1);

n:=4: ne:=n: 'f(t)'=Sum(a[j]*t^j,j=0..n);

fM:=proc(x) global M,chi2,F,T,f_; M:=x; chi2(T,F(T,chi2,f_)); end:

` `; `Approximation of the infection schedule by the solution of the Verhulst equation`; ` `; 
M:=goldMin(fM,max(T)+2..max(T)*2,1); 
nu:=F(T,chi2,f_): f:=unapply(ff(%(t)),t): N(t)=%(t); Chi2:=chi2(T,%%%);
cat(`Next day forecast:   `,round(f(nops(T)+1))); 
cat(`The level of  0.5 M  is reached at   `,round(1+fsolve(f(d)=0.5*M,d=30)+dd-31),`  apr`);
cat(`The level of  0.85 M  is reached at   `,round(1+fsolve(f(d)=0.85*M,d=30)+dd-31),`  apr`);
` `; `Approximation of the infection schedule by solving the Malthus equation`; ` `; 
nue:=F(T,chi2e,f_): fe:=unapply(ffe(%(t)),t): N(t)=%(t);

[seq([i,(
 (T[i-dd]-T[i-dd-1]) /(T2[i-dd]+T2[i-dd-1]) /((1-T[i-dd]/M)+(1-T[i-dd-1]/M))
)*4],i=1+dd+1..nops(T)+dd)]: [seq([%[i][1],(%[i-1][2]+%[i][2]+%[i+1][2])/3],i=2..nops(%)-1)]:
Palpha:=display(plot([%],color=blue),plot([%],style=point,symbolsize=8,symbol=solidcircle,color=
blue)): 

simplify([diff(nu(d-dd),d),diff(nue(d-dd),d)]): [coeff(%[1],d,i) $ i=0..n-1]; 
plot(%%,d=1+dd..nops(T)+dd,view=[0..nops(T)+dd,0..0.5],legend=[``,``],
l i n e s t y l e = [ s o l i d , d a s h ] , t i t l e = `  ` ,titlefont=[roman,20],labels=[t,alpha(t)],
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gridlines=true):

display(Palpha,%);

` `
Approximation of the infection schedule by the solution of the Verhulst equation

` `

Next day forecast:   212317
The level of  0.5 M  is reached at   42  apr
The level of  0.85 M  is reached at   59  apr

` `
Approximation of the infection schedule by solving the Malthus equation

` `
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(1)(1)
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` `
Approximation of the infection schedule by the solution of the Verhulst equation

` `

Next day forecast:   216302
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The level of  0.5 M  is reached at   84  apr
The level of  0.85 M  is reached at   121  apr

` `
Approximation of the infection schedule by solving the Malthus equation

` `

df:=unapply(diff(f(i),i),i): ddf:=unapply(diff(f(i),i,i),i):

display(
 plot([[i+dd,T[i]] $ i=1..nops(T)],style=point,symbolsize=10,symbol=solidcircle),
 plot(fe(i-dd),i=1+dd..max(90,dd+nops(T)),color=magenta),
 plot(f(i-dd),i=1+dd..max(90,dd+nops(T))),
 seq(plot([[i+dd,T[i]+3*sqrt(T[i])],[i+dd,T[i]-3*sqrt(T[i])]],color=blue),i=1..nops(T)),
 axis[2]=[mode=log],
 view=[1..80,1..M*1.1],labels=[t,N(t)],gridlines=true
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(1)(1)

(2)(2)

);

display(
 plot([[i+dd,T[i]] $ i=1..nops(T)],style=point,symbolsize=8,symbol=solidcircle),
 plot(fe(i-dd),i=1+dd..max(120,dd+nops(T)),color=magenta),
 plot(f(i-dd),i=1+dd..max(120,dd+nops(T))),
# seq(plot([[i+dd,T[i]+3*sqrt(T[i])],[i+dd,T[i]-3*sqrt(T[i])]],color=blue),i=1..nops(T)),
 axis[2]=[mode=log],
 view=[1..nops(T)+dd+1,1..T[nops(T)]*1.1],labels=[t,N(t)],gridlines=true
);

display(
 plot([[i+dd,T[i]] $ i=1..nops(T)],style=point,symbolsize=10,symbol=solidcircle),
 plot(fe(i-dd),i=1+dd..max(120,dd+nops(T)),color=magenta),
 plot(f(i-dd),i=1+dd..max(dd+nops(T),90)),
 plot(10*df(i-dd),i=1+dd..max(dd+nops(T),120),color=black),
 plot(100*ddf(i-dd),i=1+dd..max(dd+nops(T),120),color=gray),
 seq(plot([[i+dd,T[i]+3*sqrt(T[i])],[i+dd,T[i]-3*sqrt(T[i])]],color=blue),i=1..nops(T)),
 view=[1..80,-M*0.3..M*1.1],labels=[t,N(t)],gridlines=true
);

display(
 plot([[i+dd,T[i]] $ i=1..nops(T)],style=point,symbolsize=8,symbol=solidcircle),
 plot(fe(i-dd),i=1+dd..max(120,dd+nops(T)),color=magenta),
 plot(f(i-dd),i=1+dd..max(dd+nops(T),120)),
# seq(plot([[i+dd,T[i]+3*sqrt(T[i])],[i+dd,T[i]-3*sqrt(T[i])]],color=blue),i=1..nops(T)),
 view=[1..nops(T)+dd+1,1..T[nops(T)]*1.1],labels=[t,N(t)],gridlines=true
);
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dT:=[[i,(T[i-dd]-f(i-dd))/sigma(f(i-dd))] $ i=1+dd..dd+nops(T)]:
display( plot(%), plot(%,style=point,symbolsize=8,symbol=solidcircle),t i t l e = ` ` ,titlefont=
[roman,20] );
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> > 
(5)(5)

> > `====================================`;
`FORECAST`;
`====================================`;

====================================
FORECAST

====================================
proc3:=proc(E)
 E[1]*convert(map(X->X^coeff(E[2],X,1),M),`*`);
end:

proc2:=proc(X,E)
 proc3(E)*(coeff(E[3],X,1)-coeff(E[2],X,1));
end:

proc1:=proc(X)
 convert(map(E->proc2(X,E),L),`+`);
end:
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(6)(6)

(1)(1)

(2)(2)

> > 

A:='A': B:='B': C:='C': Q:='Q': M:=[A,B,C,Q];

L:=[
 [(A+C)*P[`01`],0,A],
 [(B/K)*P[`12`],A,B],
 [P[`23`],B,C],
 [P[`10`],A,0], [P[`20`],B,Q], [P[`30`],C,0]
]: Matrix(%);

eqs:=map(X->Diff(X,t)=proc1(X),M); Vector(%);



(7)(7)

> > 

> > 

(1)(1)

(2)(2)

> > 

> > 

> > 

(4)(4)
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> > 

v:=M; alpha:='alpha': K:=k0; tA:=[-7,15,35,50,58,62,78,nops(T)+dd]; kA:=['k1x||i' $ i=1..nops(tA)
];

par:=[d0,k0,op(kA),k2a,k2b,k2c,k3]; kappa:=0; 0.011/365;

param:=[
  P[`01`]=kappa,  P[`12`]=alpha(t,op(kA)), P[`23`]=beta(t,k2a,k2b,k2c), 
  P[`10`]=kappa, P[`20`]=k3,  P[`30`]=kappa
];

init:=[   A(-d0)=K,   B(-d0)=1,   C(-d0)=0,   Q(-d0)=0  ];

0.00003013698630
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(8)(8)

> > 

Eqs:=subs(map(q->q=q(t),v),Diff=diff,param,eqs); #dsolve(%);

N:='N': A:='A': B:='B': C:='C': Q:='Q': val:=valp:

#alpha:=unapply(simplify(evalf(piecewise(t<tA[1],kA[1],t<tA[2],Lag(t,tA[1..3],kA[1..3]),
# seq(op([t<tA[i+1],(Lag(t,tA[i-1..i+1],kA[i-1..i+1])+Lag(t,tA[i..i+2],kA[i..i+2]))/2]),i=2..nops
(kA)-2),
#t<tA[nops(tA)],Lag(t,tA[nops(tA)-2..nops(tA)],kA[nops(kA)-2..nops(kA)]),
#kA[nops(kA)]))),t,op(kA)):

alpha:=unapply(simplify(evalf(piecewise(t<tA[1],kA[1],t<tA[3],Lag(t,tA[1..4],kA[1..4]),
 seq(op([t<tA[i+1],Lag(t,tA[i-1..i+2],kA[i-1..i+2])]),i=3..nops(kA)-2),
t<tA[nops(tA)],Lag(t,tA[nops(tA)-2..nops(tA)],kA[nops(kA)-2..nops(kA)]),
kA[nops(kA)]))),t,op(kA)):

beta:=(t,k2a,k2b,k2c)->piecewise(t<55,Lag(t,[20,55],[k2a,k2b]),t<90,Lag(t,[55,90],[k2b,k2c]),k2c)
:
beta:=unapply(simplify(evalf(beta(t,k2a,k2b,k2c))),t,k2a,k2b,k2c);

EQS:=[op(Eqs),op(init)]:

res:=dsolve(EQS,numeric,map(q->q(t),v),output=listprocedure,parameters=par); assign('v[i]=subs
(res,v[i](t))' $ i=1..nops(v)):

chi2a:='chi2a': chi2:=unapply(chi2a(x0,xx,kA,x2a,x2b,x2c,x3),x0,xx,op(kA),x2a,x2b,x2c,x3):

chi2a:=proc(x0,xx,x1,x2a,x2b,x2c,x3) local i; global K_; K_:=xx;
  res(parameters=[corr(par,[x0,xx,op(x1),x2a,x2b,x2c,x3])]):
  sum((T[i]-(K_-A(i+dd)))^2/(K_-A(i+dd)),i=1..nops(T))+
  sum((T2[i]-B(i+dd))^2/B(i+dd),i=1..nops(T2))+
  sum((T3[i]-Q(i+dd))^2/Q(i+dd),i=1..nops(T2))+
  sum((T1[i]-C(i+dd))^2/C(i+dd),i=1..nops(T1));
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(6)(6)
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> > 

end:

chi2(op(pr(val))); val:=findMin(chi2,val); chi2(op(%));

#plot(map(q->q(t),v), t = 0 . . 3 . 0 e 4 , l e g e n d = [ ` ` , ` ` , ` ` ] ,
#linestyle=[solid,dash,dashdot],gridlines=true);

writedata(cat(Region,`3c.txt`),val);

display(
 plot(map(q->q(t),v[1..3]), t = 0 . . 3 0 0 , l e g e n d = [ ` ` , ` ` , ` ` ] ,
  linestyle=[solid,dash,dashdot],gridlines=true),
 plot([[seq([i+dd,K_-T[i]],i=1..nops(T))]],style=point,symbolsize=7,symbol=asterisk),
 plot([[seq([i+dd,T1[i]],i=1..nops(T1))]],style=point,symbolsize=7,symbol=circle),
 plot([[seq([i+dd,T2[i]],i=1..nops(T2))]],style=point,symbolsize=7,symbol=diamond,color=black),
 size=[1000,400],legendstyle=[font=[roman,15]]
): fdisplay(cat(Region,`3c`),%);

26017.0000923763
26017.0000923763
24837.3930950240
24232.7308277804
23667.6102386326
23428.4398494484
23232.9645105395
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> > 

23065.9338559835
22773.6137739018
22565.8865476780
22536.7364273996
22502.9776625321
22485.5910312501
22461.9232490194
22444.9238278099
22422.3420091323
22404.8954906419
22348.6415049279
22300.1622087870
22249.7123403351
22205.4136562738
22165.5769973986
22128.9962578916
22059.9239673558
22000.1984715544
21963.0768341602
21931.0380714446
21811.2916862762
21706.2322228959
21686.4702221250
21668.3377111982
21610.5315750495
21566.5343715997
21550.4358033787
21535.3582966810
21326.7443303599
21150.7297344744
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21143.3230689353
21131.0832349421
21121.8192994497
21106.6031219764
21096.5882540322
21073.6244028349
21054.7163090214
21018.8746812036
20977.0029115847
20963.8945811262
20946.5083497459
20939.1193862167
20926.0056835041
20916.0600862981
20886.9236491615
20863.8476165396
20840.1257070909
20822.8866544634
20778.1457056429
20732.4693085103
20724.9105470009
20713.2298355049
20706.4816249466
20696.5294642473
20690.0332581380
20669.6682625393
20655.2846187868
20460.1266271263
20280.1028272242
20274.8937484662
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20264.9104334369
20258.2160303925
20242.6956765713
20232.1545819959
20199.7977516221
20164.9637928598
20159.1943968161
20149.6383647321
20145.1683294219
20136.9770882682
20131.1183095175
19998.9342598685
19902.3609898571
19887.7421973191
19874.0420581093
19866.1600828402
19857.1444980825
19851.5094640414
19843.9946259923
19839.1057080194
19820.9509500168
19807.6719265125
19777.0166694983
19744.3018453573
19738.4685189727
19728.0817189235
19723.6192389609
19714.0125316758
19708.4795147279
19683.7960696955
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19665.3459545771
19577.6191332801
19502.7408385399
19496.7833163521
19487.5846794063
19482.8924081804
19455.3001238256
19438.9259286277
19409.4536643938
19381.9398061244
19375.8952989693
19367.5455174840
19364.5296535630
19357.6000311481
19354.2401624713
19346.8199578600
19341.1083458713
19326.3355240095
19316.2294513991
19305.9818974122
19297.7248016184
19283.6516200074
19271.4503987727
19201.4928089092
19131.5285638298
19129.5365582811
19109.2606131025
19096.7020106003
19077.5607170079
19056.5856664630
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19053.1043630586
19047.4068941248
19045.7514783638

19045.7514783638
Moscow3c.jpg

display(
 plot(map(q->q(t),v), t = 0 . . 3 0 0 , l e g e n d = [ ` ` , ` ` , ` ` , ` ` ],
  linestyle=[solid,dash,dashdot,dot],gridlines=true),
 plot([[seq([i+dd,K_-T[i]],i=1..nops(T))]],style=point,symbolsize=7,symbol=asterisk),
 plot([[seq([i+dd,T1[i]],i=1..nops(T1))]],style=point,symbolsize=7,symbol=circle),
 plot([[seq([i+dd,T3[i]],i=1..nops(T1))]],style=point,symbolsize=7,symbol=circle),
 plot([[seq([i+dd,T2[i]],i=1..nops(T2))]],style=point,symbolsize=7,symbol=diamond,color=black),
 size=[1000,400],legendstyle=[font=[roman,15]],view=[0..300,0..10000]
);
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> > 
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(4)(4)

> > 

(6)(6)

(8)(8)

> > 

logplot(map(q->q(t),v[1..3]), t = 0 . . 5 0 0 , l e g e n d = [ ` ` , ` ` , ` ` ] ,
linestyle=[solid,dash,dashdot],gridlines=true,size=[1000,400],legendstyle=[font=[roman,15]]);

display(
 plot([
  [[i,(T[i-dd]-(K_-A(i)))/sigma(K_-A(i))] $ i=1+dd..dd+nops(T)],
  [[i,(T2[i-dd]-(B(i)))/sigma(B(i))] $ i=1+dd..dd+nops(T)],
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(8)(8)
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  [[i,(T1[i-dd]-(C(i)))/sigma(C(i))] $ i=1+dd..dd+nops(T)]
 ],linestyle=[solid,dash,dashdot],l e g e n d = [ ` ` , ` ` , ` ` ] ),
 plot([
  [[i,(T[i-dd]-(K_-A(i)))/sigma(K_-A(i))] $ i=1+dd..dd+nops(T)],
  [[i,(T2[i-dd]-(B(i)))/sigma(B(i))] $ i=1+dd..dd+nops(T)],
  [[i,(T1[i-dd]-(C(i)))/sigma(C(i))] $ i=1+dd..dd+nops(T)]
 ],style=point,symbolsize=8,symbol=solidcircle),
 size=[1000,300],legendstyle=[font=[roman,15]]
): fdisplay(cat(Region,`3c-dev`),%);

Moscow3c-dev.jpg

[seq([i,(
 (T[i-dd]-T[i-dd-1]) /(T2[i-dd]+T2[i-dd-1]) /((1-T[i-dd]/K_)+(1-T[i-dd-1]/K_))
)*4],i=1+dd+1..nops(T)+dd)]: [seq([%[i][1],(%[i-1][2]+%[i][2]+%[i+1][2])/3],i=2..nops(%)-1)]:
Palpha:=display(plot([%],color=blue),plot([%],style=point,symbolsize=8,symbol=solidcircle,color=
blue)): 
#display(%,gridlines=true,labels=['t','alpha(t)'],labelfont=[roman,15],view=[0..nops(T)+dd,0.
.0.9]);

subs(corr(par,val),alpha(t, op(kA))); 
plot(%,t=-20..100,gridlines=true,labels=['t',''alpha(t)''],labelfont=[roman,15],view=[-20..100,0.
.0.24]): 
fdisplay(cat(Region,`3c-zar`),%); display([Palpha,%],t i t l e = `  ` ,titlefont=
[roman,20]);
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Moscow3c-zar.jpg
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> > 

(6)(6)

(8)(8)

> > 

[seq([i,(
 (T1[i-dd]-T1[i-dd-1]) /(T2[i-dd]+T2[i-dd-1]) 
)*2],i=1+dd+1..nops(T1)+dd)]: [seq([%[i][1],(%[i-1][2]+%[i][2]+%[i+1][2])/3],i=2..nops(%)-1)]:
Pbeta:=display(plot([%],color=blue),plot([%],style=point,symbolsize=8,symbol=solidcircle,color=
blue)): 

subs(corr(par,val),beta(t,k2a,k2b,k2c)); 
plot(%,t=-20..100,gridlines=true,labels=['t',''beta(t)''],labelfont=[roman,15]): 
display([Pbeta,%],t i t l e = `  ` ,titlefont=[roman,20],view=[-20..100,0..0.1]);
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> > 

(6)(6)
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> > 

plot([v[1](t),v[2](t),t=0..3.0e4],axis[1]=[mode=log],axis[2]=[mode=log],labels=[v[1],v[2]],
labelfont=[roman,15],gridlines=true,view=[10^1..10^6,10^0..10^6]);
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> > 

res:=solve(map(rhs,eqs[1..2]),v[1..2]); res:=res[2]; evalf(subs(param,t=100,res)); 

J:=Matrix(subs(res,map(q->grad(rhs(q),v[1..2]),eqs[1..2]))); J:=evalf(subs(param,corr(par,val),t=
100,J));
evalm(%-lambda): collect(Determinant(%),lambda); 

#evalf(subs(param,corr(par,val),t=100,%)); 
solve(%,{lambda});



> > 

> > 

(9)(9)

> > 

(10)(10)

(1)(1)

(2)(2)

> > 

> > 

> > 

> > 

> > 

(4)(4)

> > 

(6)(6)

(8)(8)

> > 

2

N:='N': A:='A': B:='B': C:='C': Q:='Q':

param:=[
  P[`01`]=kappa,  P[`12`]=k1, P[`23`]=k2, 
  P[`10`]=kappa, P[`20`]=k3, P[`30`]=k4
];
corr(par,val);
subs(param,eqs); R:=solve(%,[k1,k2,k3,k4])[1];

X:='X': X1:='X1': subs(R,Diff(A,t)=-X1[1][i][2],Diff(B,t)=X1[2][i][2],Diff(C,t)=X1[3][i][2],Diff
(Q,t)=X1[4][i][2],A=k0-X[1][i][2],B=X[2][i][2],C=X[3][i][2],Q=X[4][i][2],[k1,k2,k3,k4]): XX:=
unapply(subs(k0=K_,%),i):
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k:=7;
X:=map(q->[seq([i+dd,(ssum(q[i+j],j=-k..k))/(2*k)],i=1+k..nops(q)-k)],[T,T2,T1,T3]):
plot(%,legend=[` ` , ` ` , ` ` , ` ` ] ,legendstyle=[font=[roman,15]]
);
X1:=map(q->[seq([i+dd,(q[i+k]-q[i-k])/(2*k)],i=1+k..nops(q)-k)],[T,T2,T1,T3]):
plot(%,legend=[` ` , ` ` , ` ` , ` ` ] ,legendstyle=[font=[roman,15]]
);
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k:=0;

[seq([i+dd+k,XX(i)[1]],i=1..nops(X[1]))]: [seq([%[i][1],(ssum(%[i+j][2],j=-k..k))/(2*k+1)],i=1+k.
.nops(%)-k)]:
plot([%],title=P[`12`],titlefont=[roman,20]);

[seq([i+dd+k,XX(i)[2]],i=1..nops(X[1]))]: [seq([%[i][1],(ssum(%[i+j][2],j=-k..k))/(2*k+1)],i=1+k.
.nops(%)-k)]:
plot([%],title=P[`23`],titlefont=[roman,20]);

[seq([i+dd+k,XX(i)[3]],i=1..nops(X[1]))]: [seq([%[i][1],(ssum(%[i+j][2],j=-k..k))/(2*k+1)],i=1+k.
.nops(%)-k)]:
plot([%],title=P[`20`],titlefont=[roman,20]);
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